6.5 Parabolas

A parabola is a locus (set) of points in a plane equidistant from
a fixed point (focus) and a fixed line (directrix).

What do we already know about parabolas?

Vertical: (x - h)z =14p (J’ —k )

Horizontal: (y - k )2 =14p (x - h)

Vertex: (h, k ) Kind of like the center.. .think of it more as the
starting point for the graph ©

p units from the vertex in both directions is the focus and
directrix. The parabola opens into the focus. Think of it like

4p- focal width (width through“the focus)
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Nartne:

Period:

Date:

Pre-Calculus Parabolas

Directions: Fill in the missing information and graph each parabala ona scpam-tc set of axes.

1 (x+2) =4(y-1)

@ Not a Function

Opens ‘JF
Vettex (' 3; ll
Focus ( ";‘ 3\\

Focal Width H

Eéuation of Ditectrix ?’ =0

2. (y+ 3)2 = —S(x— 7)

Funcﬁon@

Opens___Lprd

Vestex (_ '7,.'— )

_— (‘% (5,-%)
Focal Width 9

Equation of Directrix

5. 2 =8(x+1)
Function/{Sot a Fu.uctio_n/ )
Opens ﬁ- gl 3(

(’{,ﬂ

Vertex

Focus (I,U)

Focal Width %

| Equation of Ditectrix X e 3

wy

P

4. x> =-16(y—3)

@ Not a Function,

My, Cl
Opens Cwwn

Vertex ﬂj s i)

Focus (di/‘)

Focal Width { Lv

Equation of Directrix \! = 7

5. (y+5) =—12(x+3)

T

Opens _/...o«L L

Vertex ( ﬁ = 9)

|
Focus ("' (41 A 9)

Focal Width | ]

Equation of Directtix

X =D

6. (x—2)° =20y
o Not « Focion
Opens v ,0
Veses_(3,0)
Focus ( 3; 4 )

Focl Width D)

Equation of Directrix \ll -7




6.5 Writing Equations of Parabolas

Write the equation for the parabola with...

1s Etc;%?:ﬁ))and directrix y=4
1

37
e .-‘ if'—":g Y=Y (X—Bﬁ:;l(j-?)

[ 5. focus (0,2) and directrix y=8

-~ §F

2. wvertex (2, -1) and directrix x=3
"’3 (y+)%9(x2)
[

a-)

3. vertex (-4, 2) and focus (-5, 2)

F:l (hy-g)g’e:-“/(r‘(-t‘d

6. focus (3, -1) and directrix x=-5
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(N+1) - -4(X=4)




